Answer the following questions : 2x5=10
we wT e fidl ¢
J State two distinctions between
marketing and selling.
s % R e 4 {0 LK
o |
fi) What is product positioning ?
7 S &
i) What is product line?
Beota 7 Al 7
iy) What is personal selling?
qfese ke f61

(v) What is advertising agency ?
R sfvad fo?

3. Answer any four of the following :5%4=20

e TR A B B el ¢

| Importance of product as a component
of marketing mix.

TRl i Bl RO 209 6
fi) Advantages of product branding.
R AT TR

4 (Sem=5JCBCS) COM HC 1 (oG~ 6

§ Sen-5/CBCS) CONHC 1 /6 7

(i) Reasons of product failure.
TRl W 2yebura Ay

(i) Advantages and disadvantages of
E-tailing,
E-tailing 7l W% S

() Merits and demerits of product
diversification.

Beol 9 AR el % TR
(vi) Essential elements of good branding.

56 oo SR CAN

Answer the questions from the following :
(any four 10x4=40

o SR B it ¢ (R oG
(@) Outline the major functions of marketing
TR T4 IR o e 1

() Discuss about growth and future of
marketing in India.

RS TGN ] B RS TS
AR |

() Explain the consumer’s buying decision
process.

Bofrere e e g R I
|

Contd.



(d) Define market scg,mcnt:,n.if_m aned
discuss its importance for a firm.
Qe e A il % L9 SFTy
IO 41 |

(e) Describe the role and importance of
pricing.

7 PRl e S SFPTR 3 |

() Explain the various pricing policies

available to a firm in taking its pricing
decision.

<51 efezie 7R FEReR FEe RIS 0 T
fifen w1 fAwmiee Sifesgz it T4

(99 Explain the various methods to
measure the advertising effectiveness.

R@ifsremaer ToerTel (@R [fen smfong
Tt 1 |

(h) Discuss the various factors which affect

promotion mix decision of an
organisation.

qol =T Tet e Fme a0l (vae
reiite T Rfeq i@ R wiEsa 3|

4 (Sem-5/CBCS) COM HC I (PoM)/G 8 13000
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4 (Sem-5/CBCS) COM HE 2 (AFA)
2023

COMMERCE
(Honours Elective )
Paper : COM-HE- 5026
(Advanced Financial Accounting)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

l. (a) State whether each of the following
statements are True or False : 1x5=3

() Minimum rent is payable only
when actual royalty is lesser than
minimum rent.

(i) In departmental accounti’ g, each
department is considered as a
separate profit center.

Contd.



(i) chas iderati
fay Pu‘rd?abe consideration is sett]
only in cash. o

flv) 7
(tv) ;}mernmcnt Accounting follow
ouble entry system. )

(v) gn dis§olution of a firm, goodwil]
tr;;;;ce;nng in the Balance Sheet is
sfered to realisation account

(b) Fill i
In the blanks with appropriate

words :
1X5=5

(i) Pur
diffecrl'elise consideration is the
e ::ldbgtw§<?n the valﬁe of
i liabilities taken over
—_ method.

() Sho i
. rt workings is the excess
minimum rent over o

(i) Ex
penses which ’
:pportioned am::gnt e
€partments should be shownt}ilr(:

(iv i
) ’tI‘II:e differences between stand
rn ve
over and actual turnovei

during the i N
called indemnity period is

4
(Sem-5/CBCS) COM HE 2 (AFA)/G 2

firm is dissolved
0 ascertain

(v) When a
account is Pr
profit or loss on reali

epared t
sation.

iefly :

llowing questions br
2x5=10

| 2. Answer the fo

(@) What do you mean by short workings ?

(b) Mention two objectives of preparing

departmental accounting.

\
two differences

(c) State
dissolution of partnership and

| dissolution of a firm.
andum trading account

between

(d) What is memor
in the context 0
atures of Government

f insurance claim ?

(e) Mention two fe
Accounting.

3. Answer any four questions : 5x4=20

ommon expenses are

(i) Explain how €
different

apportioned
departments.

among

4 (Sem-5/CBCS) COM HE 2 (AFA)/G 3 Contd.




(i) Mention the differences bet
W
government accounting and comn Cen
accounting. lel‘cia] Depntm.nt X Department
(2) ()
1 .
(i) Describe the procedure to be ,
to lod : followeq Opening Stock 8,000 12,000
ge claim before insurg 000 €0 000
c : . n 0, 50,
ompany for indemnification of ] Ce Purchases 3
stock due to fire. 0SS of |  Purchases return 2,000 4,000
: i oe i 1,000 2,000
(iv) What i Carriage inward .
t is amal ;
are the obi gamation of firms ? Why, Wages 2,000 3,000
objective
s of amalgamation » Seles 50,000 70,000
(v) Briefly explain the i | Sales return 2,000 3,000
lockout e impact of strike ang e
on the payment of royalty Other expenses Amount (%)
. : i 8,000
(i) Explai Salaries )
ain th . :
e e rule laid down in G Advertisement 4,000
. Murray case. ‘arner ,
Bad debts 2,000
4. :
Answer the followin ) Drpreciations 2,000
i) § questions:  10x4=40 dry 000
i) Mr. Raj . = Sundry expenses 1,
s ajat carries his business y
. epartments viz X and Y. F. nder -
;S the extract of his Trail B - Following Additional Information -
1st D rail Balan ‘
ecember, 2022 : ceason (@) Closing stock as on 31st December,
4 (Sem 2022 Department X 2 9,000 and
~5/CBCS) COM HE 2 AF, yepartment Y
NG 4 ep ent z 13,000.
. 4 (Sem-5/CBCS) COM HEz(AFA)/G 5 Contd.




(b) Unallocated €Xpenses are
0

apportioned on

the  basig

departmental cost of goods so]q

Prepare Department
al Trad’
Profit and Loss Account. 18 a

OR

@ Dipali and Barnali were partne
IS j

firm sharing

::.o of 3:2 they decided to dis the
Whu ﬁrm. on 31st December
en their Balance Sheet v;:

a

under:

Liabiliti
ilities Amount (2)
Capita] :
Dipali 17,500
Bamali 10,000
Creditors 2000
Profit and Loia
Alc 1,500
31,000

4
(Sem-5/CBs) cou g o WG 6

SOIVe
2022
$ ag

Balan
ce Sheet as on 31st December 20
» <022

Assets AmOunt (?)
Investment 4,00
V00
Other assets 21,000
Bank
2,000
Cash D
00
31,000

nq

(i)

4 (Sem-5/CBCS) COM HE 2 (AFA)/G 7

The partners decided to dissolve the

the above date. Dipali took over
¢ an agreed value of
e realised

firm on
the investments a
13,800 other assets wer

12600.
Creditors of the firm agreed tO accept
5% less. Expenses of realisation of

assets amounted to 2 400, There was 2
iter in the firm which was bought

out of the firm’s money at 2 2,200,
was sold for 2 1,000.

Prepare necessary Jedger accounts to
close the books of the firms.

From the following information,

compute the amount of claim for

consequential 1oss :

(@) The fire broke out on 1st July,

"' 9022 and it affected sales for three
months.

(p) Sales for three months ending 30th

September in 2021 and 2022
were 150,000 and 750,000

respectively.

(c) The policy was for 4,50,000 with
a six months period of indemnity.

(d) Sales for 12 months ended on 30th
June 2022 were 2 19,00,000.

Contd.



le) Accounts are prepared o
n

December. 3) 8

t

() The net profit for 2021 am,
to 12,50,000 after d°
standing charges &
11,10,000.

Untey
t itin
Otaling
(g) Sales for 2021 were
218,00
: )000

(h) A sum of 23,500
] v was
additional expenses to mi;pent as
effect of the loss. gate the

OR

(ivy Ramen and
Suren are
;B>artners in a firm. FollowintWO °
alance Sheet as on 31st Magrc‘;;as
) 2

qua]
their

B o
" alance Sheet as on 31st March, 20 *
iabilities o
- Amount () Assets Amo
tors 12,000 Furniture e
Reserve 500
- 2,000 Stock 15’ ”
,000
. Debtors
en 20,000 10000
Suren
15,000 Cash
49,000 \3’000
49,000

—

4
(Sem-5/CBCS) COM HE 2 (AN 8

ed to amalgamate their

business with that of Arun and Barun
whose Balance Sheet as on that date

was as follows

They want

Balance Sheet as on 31st March, 2023

Liabilities Amount (2)  Assets Amount ()
|
Creditors 10,000 Machinary 20,000
Bills payable 5,000 Stock 9,000
Capital Debtors 7,500
Arun 15,000 Cash 3,500
‘Barun 12,000 Profit & Loss A/c 2,000
42,000 42,000

Arun and Barun share profits in the
ratio of 3:2. Profits and Losses of the
new firm is to be shared equally. Assets
and liabilities of the firms are to be

taken over at agreed values as stated
below :

Ramen and Suren firm : (z)

Furniture at 14,000
Stock 16,000
Debtors 14,000
Goodwill 10,000
Cash 3,000

—
57,000

4 (Sem-5/CBCS) COM HE 2 (AFA)/G 9 Contd.



SRR Barun firm
(v)
Machir
achinen
. OO
‘\‘hi\:\"irs
. 7,0
Goodwil] 00
S
Bl ,000
3:500
—_—
—_

You-arc required to give the openij

entries and draw the new Balance S’:ng
of the. new firm taking 280,000 a -
combined capital of the firm ts e
contributed equally by the partm;-sbe

10
v) A company has taken a lease of 1
at. a royalty of z 5 per ton of lime r ’and
::lth a minimum rent of z 30,00(?1 :Zd
Sh;rwt.xwrzrkilavin.g 'right to recou;
e ngs within next two years of
ccurrence subject to a max;j

of 2 5,000 p.a. o

——_
(Sem-5/CBCS) CoM HE 2 rm/6 10

The outputs of first five yeqrs
years are given

below :

st year 4,000 tons
2nd year 4,500 tons
3rd year 8,000 tons
4th year 8,200 tons
Sth year 5,500 tons

Prepare a royalty statement and give

Journal entries in the books of lessee.

OR

(vi) What are the different methods of

determining purchase consideration
when a firm is sold to a company ?
n modes of discharging

Also mentio
6+4=10

purchasing consideration.
distribution ? What
f piecemeal
2+8=10

(vi) What is piecemeal
are the different methods o
distribution ? Explain them.

4 (Sem-5/CBCS) COM HE 2 (AFN/G 11 Contd.



OR

(viii) Write short notes on : (any twg
5x2§10

(@) Governments Accounting Stap

d
Advisory Board wrd

(b) Modes of dissolution of partnership, firm,
(c) Features of Departmental Accountip,

4 (Sem-5/CBCS) COM HE 2 (AFA)/G 12 6000
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2023
COMMERCE

(Skill Enhancement Course )

Answer the Questions from any one Option.

OPTION-A
(Entrepreneurship)
Paper : COM-SE-5014

OPTION-B
( Event Management)

Paper : COM-SE-5024

Full Mqus : 50
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Contd.



OPTION-A
(Entrepreneurship )
Paper : COM-SE-5014

1. An
swer the following as directed :

IR o frars B o ¢

(@ E
co .
preneurs aim to solve a specifi
ic

1x4=4

envi
r.onmental problem throy
Sustainable business. .

e WW (Write true or false)
Sy IZTH PN SRae
T YT AN [T 757 03|
(8% @ o
(b) Write the full form of MSME., "
MSME 3 354 et faval |
(¢) Business incubator is a

o system
upport for entrepreneurship

(Fill in the bl
W ank)

4 (Sem-
(Sem-5/CBCS) COM SE 1/SE 2/6 2

(d) Which of the following is/are
component(s) of a good feasibility
study ?

() Market feasibility analysis
(i) Financial feasibility analysis
(i) Economic feasibility analysis

(iv) All of the above
(Choose the correct option)

5! M’SWWW@WW"T
FafiRs & f Some Y T

9. Answer the following questions in brief :
' 2x3=6

W@Wﬂ@@mz

(@) State two importance of
entrepreneurship.

Srfiew 707 o%e ol

4 (Sem-S/CBCS) COM SE 1/SE 2/G 3 Contd.



-~
Q.

I
s

(©)  What is self help group ?
TR (1% WA 2

Answer any two of the following question
S:

5)(2:10
R Ry 7t 2e Tes i e
(@) What are th
e sources of busi
ideas ? Hsiness
I LIRNARS T 2

(b) Write briefly about the private ang
public systems of stimulation in the
context of entrepreneurship.

ST (eivite, e
R R .,
SR T Rz S |

s .
(c) State the different types of resour
mobilisation for startup -

SREER ARSI
- SO AT FARRILS SRR

4 (Sem-
(Sem-5/CBCS) COMSE 1/SE2/6 4

Point out two basic start-up proble
g,

4 (Sem-5/CBCS) COM SE 1/882/C 5

(d) Highlight a few prominent business
houses in India and point out their

business philosophy-
orawa @A faE AT i 4fd (SSTA
i i gl

ollowing

Answer any three of the f
10x3=30

questions :

Wﬁmmﬁmeﬁmwmz

(@) What is business plan
contents of a business P

e SR W &2 R S
3 GRS
(b) Explain the role of family business in

India. Highlight the reasons behind
conflicts in family business. 5+5=10

.

ol | SRETETCTR TERS @ RS

- IRPR zzeng, forll

(c) What is creative behaviour ? Discuss
how entrepreneurship can give creative

response to our society’s ‘problems.
o 2+8=10

WWW%?W@WW
TETPTES oS maﬁaﬁﬁﬁww
A i3 R S

Contd.



(@ What are the differences betwe
e

(e)

entrepreneurship and intrapreneurshj, -

Explain the significance of
technopreneurship and cultural

entrepreneurship. 4+3+3=1

Bfirel wF eI SOROR Wwe 5

oy WiTg? IR TS W Aoy

TfioR eFFRR I F|

Describe the factors that need to p
e

considered in selecting a suitab]
location for business accommodatio ¢
n.

IRART TR AR BT T A 2w
v R FREN IR I 3/

Discuss the role of the followi
. owing i
developing entrepreneurship : 5+5g= 113

() Industry/Entrepreneur’s Associationg
(i) Angel investors

Trfior Rere weTe SE T R
TG F1A ¢ RS

() Swel/Somae wgl
(i) e R

4(Sem-5/CBCS) COM SE 1/SE 2/G 6

Answer the following &

OPTION-B

( Event Management )

Paper : COM-SE-5024

) directed : 1x4=4

WWﬁﬁﬁﬁwmﬁm%

(@) What is the dec

(b)

(c)

iding factor for selecting

the theme of an event ?

i

' _mﬁ@@@?ﬁ%ﬁ%@t:

aﬁmmﬁwﬁcﬁwmﬁs ?
() Budget (]TTH)

(i) Logistic (FRRR)

(iii) - Target Audience (R ren)

(iv) Risk issues (ReMMIRE TFT)

Write the full form of IPRS.

IPRS T 7= o Tt

Choose the correct answer :

Which category of skill does inspiring the

staff effectively reflects ?
reReir afewTe T
() Acknowledging (ReRFM)
Contd.

4 (Sem-5/CBCS) COM SE 1/SE 2/C 7



Leadership ((FF%)
2. Answer the following questions in briefl :

(iit) Evaluation (FETTR)
) ( 2x3=0
(iv) Organising T I[)
RS srara by Baa i ¢
(d) Choose the correct answer : )
(@) Give two examples of Event Association.
o DEH iR TSl ¢
o e b Sz |
______involvestw
R dl vo vesp o or more speakers ang (b)) What is checklist ?
moderator. Participants expre . &
views on a specific topic. Subzequ el | o ik
the meeting i ently, (c) What is event logistic management ?
ng is opened for discussion

among the speakers and also encourag DI A OF et [
inputs from the audience © ‘

e 3. Answer any two questions of the following :
N@ﬁm\ e <ot T8 R 5x2=10

TOI® M I | ARS] FT®

WWWme' ’ o gt gt e B e &
I TS W6 #111 © ARe SR - () What s planned and unplanned events ?
i RSl -Give example that illustrate each
i)  Panel (¢t SCIGA)
@ c category-
1) (o) f

nference (AfRE) . ARTHS A TR W‘iéﬂﬂ &2 Aot

e 3 TR TR |

(iii) Exhibitions (W)

(iv) Seminars (SICEAGI bF)

plain the significance of legal

(b) EX
compliance for managing an event.

4 (Sem-
(Sem-5/CBCS) COMSE 1/sE2/6 8
4 (Sem-5/CBCS) COM SE 1/SE 26 9 Contd.



.,""

B I AROI 3R AR WA TATA
Bleod [ [ |

(c) How can an effective Public Relation (PR)
strategy contribute to enhance the

reputation and success of an event ?

B R TR (Per,) e @
SR T S el 37 IS (T
SRZA AN AR 2

(df Distinguish between business tourism

and leisure tourism.

TR o167 W SRR SR Tere N4y
I 3=

Answer any three questions of the following :
10x3=30
S Reica fofb e B firat ¢

(a) Discuss the characteristics of an event

and its impact on its participants.

SO B TG i1 B S A oTeera
69 L 2R SRl 41 |

4 (Sem-5/CBCS) COM SE 1/SE2/G 10

(b) Discuss the various clements that event
planner should keep in mind while

developing the concept of an event.

IR o ) s TS SO
SRR R e o fafes AT
T 3 |

(¢ What is event staffing 2 Discuss the

, -
various elements of the events staffing

Srpp T o o S 5 AT
fafom BotmwRE S |

(d) Discuss the various utilities to be
considered while managing &0 event.
R &bt bR TS KEO i
Rfiow G W 9

(e) Define event sponsorshi

importance in event marketing:

mqumﬁﬁ:wﬁwwﬁﬁ’m
EetReakall

p. Elaborate its

| Contd.
4 (Sem-SICBCS) COM SE 1/SE 1/G 11



(/) Explain the needs to incorporate
entertainment in the corpﬂfmc'cvcm.
Discuss various forms of entertainment
that can be integrated for the success of

an event.

IS SHPWE ARG TTGE 4
ACAETRS @R 3 T | A T
e AR TwyE a1 iR @
TARGRIZ ST 31 |

~ 4(Sem-5/CBCS)COMSE 1/SE2/G 12 4000




Fotal number of i,p-nh;f e l |

4 (Sem-5/CBCS) COM HE 6 (IF5)

2023

COMMERCE
( Honours Elective)
Paper : COM-HE-5066
(Indian Financial System)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as per
direction. 1x10=10

AT o PR Tl ferdl —

(i) “Stock exchanges have been playing an
important role in smooth functioning of
the Capital Market.” (Wnte Yes or No)

Y T Y AR F-Riaww
@z 9%ee SRR A |
(Cfethr & @ 723 )

Contd.



) Indian financial system IS primag

(N . . rll
divided into two parts-one is organj d

£ 8 ) 1SC
financial system and the other is kno ;
wn

as . (Fill in the blank with suitaby
e

words)

SRR R IRZF AAIRCS 0! OIS ©ls} 3y
1 451 T oIS I W WIA! T
" (Coge s A I3 WFW)I
(i) Depository system is constituted by
e Tz i I
(@) depository participants
TGSt Tretamd
(b) Investors and issuers
Rz o Rtk
(c) Depository
fonfenst
(d) All of the above (a), (b) and (c)
89ge Al (a), (b) T (c) FAENRIT
(Choose the suitable option)
(73w Tewch! R Tiaear)

4 (Sem-5/CBCS) COM HE 6 (FS)/G 2

al market is regulated by

(iv) Indian capit
(Write True or False)

SEBI.

Re JFdl T SEBI-A 4@l frfEe 21

(5% (7 95 fer2id)

(v) Name the oldest institution engaged in
mutual fund business in our country.

I TS ST fferd T wfge s
ol oo AR
(vi) Merchant banking is
R IR T
(a) Fee based service
gt fofee Gl
(b) Fund based service
e o
(c) Both (a) and (b) above
@A| (a) T AL
(d) None of the above

@9 GOS8 T
(Choose the right answer)
(o Bewh! AR TEAST)

4 (Sem-5/CBCS) COM HE 6 (IFS)/C 3 Contd.



() Indian banking system is basicq))
y

regulated by (i) Write the full form of PFRDA:
SReN @R I TS (T TSR qpy PFRDA 7 eIl faran
e x) Which of the following is related to the

' Primary Market ?
wFR ! R U TN TS TGOS ?

(a) Trading in new issues of new
I

(@ RBI Act, 1934

RBI W3, 3598
company
g A T R fRfer I

(b) Trading in new issues of existing

(b) Banking Regulation Act, 1949
QR TRz =gy, v8s

(c) Both (a) and (b) above compary

o e wge st R TP

(c) Both (a) and (b) above

@A (a) W% (b) TS

(d) None of the above @ (a) S (b) TEA
@ (a) ) ?

89T I8 T
e (d) None of the above
(Choose the right option) @9 9ol T
(z7 Teaeo! AR Tleear) (Write the correct option)

(o Teco! )

4 (Sem-5/CBCS) COM HE 6
(Fs)/c 4
4 (Sem-5/CBCS) COM HE 6 (FS)/G 5 Contd.



(x) RBLis the Apex regulatory institutio
rl . . .
(c) Mention two characteristics of financial

of the Banking system in our COUHtxy

(Write True or False) services.
RBI@WWWW%M i o 1 CafiEy T
| (@ &
o W,@QT 7%?/7) (d) Name two public sector banks currently

2. Answer the following questions in aboyt g o operating in our country.

words each. 2x5<1q TRTS TGS Rz <R 2 70 ISR
o 2 2SR 2 50 THR R e Peq (@ A T
T | | :
(e) Define venture capital.
(a) Give the meaning of financial system’ -
S (ORI TR FRE! ot
8 77 AR o
or /9

(b) State two distinguishing features of
Write two objectives of IRDAL

money market.

ot < 751 Ay S IRDAI 3 757 Tray i)

4 (Sem-5/CBCS) COM HE 6 (IF:
) (FS)/G 6 4 (sem-5/CBCS) COM HE 6 (FS)/G 7 Cortd




~
&)
e

\nswer any four questions fr
! -
B he objecti f SEBI
on the objectives of SEBIL

following in about 200 words each (e) Menti
5x4§20 oo SOwT2 T A1)
S . AR QOQM () Define lease and state the features of
g OO0 X :
financial lease.
%mﬂmﬁmmﬁ'@ﬂﬁm AR

(a) Explain the composition of Ing;
lan

financial system. T
ool RE TR MW FiF
3 J S qcﬁT
Aall 4. Discuss the important functions of financial
(b) DlStlngulSh between NBFI and Ba-nk System. 10
R SR SIS R SRR M ety A8 TREE Sl R SR T
33T
or /9l
(c) Explain the merits of
=k erits of mutual fund, “Financial system and economic development
TrzeR | FRUPTR I 4 | is the complementary to each other.” Explain
the stats t.
(d) State the different submarkets of money e statemen
market. T A T A vt 2051 PO Ao
@2 e T A

4 (Sem-
(Sem-5/CBCS) COM HE 6 (IFS)/G 8
4 (Sem-5/CBCS) COM HE 6 (FS)/G 9 Contd.



, et ? Explai
What is mone market? Explain _
pDefine hire-purchase. Differentiate between

‘mportant defects of Indian Money Market
A 2+8=16 leasing and hire-purchase. 3+7=10
SERER I ([ SACER SRR @Iﬁﬁq SRITTA @ | vy o feifesa e A%
bz 9 I ol -
or/ <1
. (o) ot
What is Capital Market ? Explain the B
procedure of issue of securities in primary Discuss the traditional and modern
market. 2+8=10 . functions of RBI. 5+5=10
TEER I Q2 I e dfeefs Rfag
sTers! Il 3 | wﬁwﬁmé@wmmmmmqﬁﬁ@ﬁ
. . ST
What is Commercial Bank? State the
modern functions of a commercial bank. or /a2l
3+7=10 ‘ .

In which year SEBI was established ?
M @ Br AMETE @ YRS PR :
S = Describe the measures taken by SEBI for

the protection of interest of investors.

Or /9t
2+8=10

What is the objectives of insurance ? Also
point out the functions of insurance

SEBI o om tefet? Rt e
=& SEBI TRl SRR 6

companies in India. 10
TR Sreely 2 BROS W (@I PRffeen)
3 1|

4 (Sem-5/CBCS
/CBCS) COM HE 6 (IFS)/G 10 4(Sm_5/c3cs)c0MHE6(lFS)/G 11 9000



( Fonou S 'i.,,LJTJJ.
: 2 VST

.A;x T p “;,

| sz%“od"',' "'j.?j'# _

3 vds bauﬂm mhm iy
] Full ‘Markgm.ﬂo;, Sred
Time : ‘Three :hqurg (6)

| The ﬁgures in the margin indicate
full marks for the questions.

Answer either in English or zn Assamese.

'
-

1. Answer the followihg questions as per
direction. - 1x10=10

| RO ood PR Ue el —
| (i)  “Stock exchanges have been playing an

important role in smooth functioning of
the Capital Market.” (Write Yes or No)

‘YoAgw! qGRT Y AfbEe IF-RiTTm
@I 939e) SRl Aem |
(et 2 @ 927 fad)

Contd.



Indiar § . ~y
".\.luh] financial system is primarily
divided int ‘ .
B d into two parts-one is organised
financial syste s ko
cial system and the other is known
as (Ful v
MR in the blank wi '
witl f
o 1 suttable
ORT Ry 377 23 W) i 341
q. SN Y AL 10T OIS o
| 901 2 e Iy & SN0 T
|

(Tny@ 2773 01 A2 979 39)
() Depository system is constituted by
e Tz o1 1
(@) depository participants
fEARER wrexarzet
(b) Investors and issuers
RGeS o RiFed
(c) Depository
fesifenat

(d) All of the above (a), (b) and (c)
8IS fr;l (a), (b) WF (c) FAEIEE
(Choose the suitable option)
(T3 Cewdr A1k Gfrea)
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rket is regulated

(iv) Indian capital ma
(Write True or False)

SEBI.

wEon el A8 gEplaamM fafts 2]
(5% (o] UGN fey2el)

est institution engaged in

(v) Name the old
business in our country.

mutual fund
A oS TSl offera AT Gfee afs
ojdfdl SO forat |

(vi) Merchant banking is

Ao IAR A
(a) Fee based service
g fofes o

(b) Fund based service
el O

(c) Both (a) and (b) above
@A (@) I (b) TSR

(d) None of the above

@9[qq W18 T
(Choose the right answer)
(o GG AR TS
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(v Indian banking system is basically

. PFRDA.
(viii) Write the full form of
regulated by
pFRDA 4 el T
- o -] . ) thC
SNGRCRT IY TG (A WT%RW | ) Which of the following 18 related to
X
o | ' Primary Market?
?
4 G TS TYS
(@) RBI Act, 1934 e P! [ o
' ‘ho in new issu€s O
RBI 913, yve8 (a) Trading
company
. A
(b) Banking Regulation Act, 1949 T @A g S fafere -
. i new issues of existing
®ERR fmme TS, 585 (b) Trading in NeW 18
company
(¢) Both (a) and (b) above S IR T e I
IR (a) W= (b) Tow () Both (@) and (b) above
| @ (b) TS
(d) None of the above | @%F (a)
99T @18 T (d) None of the above
89FT I8 7Ty
@5d ol TR
(Choose the right option) ' (Write the correct option)
(o7 T AR Gereq) (o BT )
Contd.
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